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01. Following table gives the yield (gm.) of barley for each of the 50 plots [plot-size=10

sq. yd.]:
[ 195 | 180 | 158 139 139 168 145 166 110 171
[ 187 | 174 172 | 191 155 169 139 144 130 146
| 157 | 182 209 136 153 160 142 179 125 149
| 189 | 108 | 118 | 149 | 178 | 1712 | 151 | 227 | 127 | 148
| 147 | 178 189 141 173 187 167 128 139 152

Treat each column as a first stage unit (fsu), each consisting of 5 second stage units (ssu) and
find the variance of y=}[_, § ,where n is the number of fsu’s selected, ¥; is the sample mean

per ssuin the i

fsu=2.

" selected fsu. Take n=4 and number {m) of ssu’s selected from each selected

~_E6. At an experimental station, tl]ere are 100 fields sown with wheat. Each filed was
divided into 16 plots of equal'size {1/16™ hectare). Out of 100 fields, 10 were
selected by SRSWOR. From each selected field, 4 plots were chosen by SRSWOR. The
yields in kg/plot are given below:

Selected | 1 2 3 4 5 6 7 8 9 10
Field
Plots Yield(kg)
1 432 1416 |3.06 (400 |4.12 |408 (516 |4.40 [4.20 [a.28
2 4.84 1436 |424 (484 (468 (396 |4.24 |4.72 |ass 4.36
3 396 1350 1476 [4.32 [3.46 |3.42 |4.96 |4.04 |3.64 3.00
| 4 4.04 5.00 3.12 3.72 4.02 3.08 3.84 3.98 5.00 3.52
(i) Estimate the yield of wheat per hectare for the experimental station along with
its standard error.
(ii) How can one estimate obtained from a simple random sample of 40 plots be
compared with the estimate obtained in (I)?
(iii) Obtain optimum n and m under cost function 100=4n+mn

where n= number of first stage units (fsu’s) drawn by SRSWOR
m= number of second stage units (ssu’s) drawn by SRSWOR from each sampled

fsu.



03. Following is a sampling frame regarding study of household size:

Number of Households

Size of Households

il Village
1 17 75546235565444
’ 533
2 18 65454565354453
I 3564
3 26 66353455444375
l 462556155463
{ 4 18 63636345444563
5135,
, 5 24 54654565447665
4456343353
6 17 34465735464545
336
7 20 64454564354655
224543
8 24 53374466453764
5635135446
9 24 53374466453756
6352754316
10 22 45654476554456]
34335354
11 15 54555447555443}
5 i

(i) Select a sample of 3 villages by SRSWOR.

(i) On the basis of the data, obtain an estimate of ¥

and the variance of the estimator used. Ssmple

(average size per household)
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